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7. Foranormal distribution N (i, 6°) the odd central moments arc all :
(a) one (b) zero
(¢) neither ones nor zeros (d) noncoftheabove

8 Let X bearandom variable with cumulative distribution function F(x) = | -¢*,
0<x<a Themeanof Xis:
(a) 18 by 1+1/0
) 18 (d) None

9. IfX, and X, be two independent Poisson variates with parameters A, and &,
respectively. then :
(@) X, +X,and X - X.also follow Poisson distribution
(b) X, +X,and X - X.donot follow Poisson distribution
(¢) X, +X,andnot X, - X, follow Poisson distribution
(@) X, -X,andnot X, +X,, follow Poisson distribution

10, Let X be random variable that follows a gamma distribution with parameter 3, the
pdfisgivenas;
expl xx”!
rip)
Thenas B — oo, gamma distribution tends to
(a) Normal distribution
(h) Uniform distribution
(¢) Geometric distnbution
(d) Cauchy distnbution

fix)= PB>0x>0

1. A random variable X is gamma distributed with o = 3 and B = 2. The value of

P(X<1)is:
13 13
(@) 1% ®) 7
01— it
© 8¢ — e
12.  Thedata collected by the investigator himselfis called :
(a) Primary (b) Secondary
(c) Listvalue (d) Collection
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13, Thequantitative facts in deseriptive statistics are not :
(a) interpreted (b) collective
(c) summarized (d) classified

14. A given data has mean = 6.5, median = 6.3 and mode = 5.4. It represents ©
{a) leptokurtic distribution (b) symmetrical distnibution
{c) negatively skewed distribution (d) positively skewed distnbution

|5, Thevariance of following numbers 15,25, 5. 10, 30 isequal to :
(a) S0.20 (b) 927
(c) 430 (d) 86

16, The second guartile position is also known as :

{a) median (b) mode
(¢) standard deviation (d) vanance

17. Fora grouped data. which of the following is rarely used ?
(a) quartiledeviation (b) standard deviation
(¢) anthmetic mean (d) averagedeviation

18 Ifthe coclficient correlation 1s equal to zero, then the standard error is equal to -
(a) one (b) zero
(¢) greater than one (d) noneolthe above

19. Given the regression cquations y on x : 8x 10y + 66 =0 and x on
y:40x - 18y =214. The correlation cocflicient between x andy1s:

5 3
(a) 4:—3- (b) t;
(€) +3 &) =+5

20, When the coefficient of correlativn is zero, the lines of regression are :

(a) comncident (b) paralicl

(¢c) atrightangles (d) noneoftheaboye
31, When the coefficient of correlation is +1, the lines of regression are :

(a) coincident (b) parallel

(¢) coincident or parallel (d) atrightangles
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22,

23,

25.

26.

o7

28.

29.

The following frequencies are of the positive order : (A) =40, (B) =60, (AB) =30,
N=130. Then the value of () is :

(@ 90 (b 70

() 30 (d) 60

The following frequencies are of the positive order : (A) =50, (B) = 30, (AB) =20,
N=170.Then AP isequalto:

(a) 80 (b) 30
(c) 120 (d) 140
The curve which is very highly peaked and has the value of > 3 are called :
(a) mesokurtic (b) leptokurtic
(c) platykurtic (d) allofthese
When frequency distribution is not symmetrical about the mean it is said to be :
(a) kurtosis (b) moment
(c) skewed (d) noneofthese
For an infinite population, the factor LA approximately :
(a) zero (b) one
(c) greater than one (d) none
The standard deviation of a simple random sample mean x taken from an infinite
population is :
@ ovn ®) on
o o
(c) i (d) n
The standard error of sample mean X is equal to :
(a) Var(x) (b) _{Var(x)?
(c) {Var(x)}® (d) {Var(x)}"”
In randomized block design, how many treatments can be adopted without any loss
of efficiency ?
(@ 10 M) 15
(c) 18 (d 20
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30.

Ik

32.

33.

34,

35.

36.

37.

An infinite population has a variance of 36 and a mean 0f 96. A sample of 4 items is
taken. The standard deviation of the sample distnbution is :

(a) 18 by LS5
(¢) 3.0 b 9
Systematic sample :

(a) gives more reliable results than a random sample

(b) gives less reliable results than a random sample

(c) cannot be said to give either more reliable or reliable results than a random
sample

(d) none of'the above

The ANOVA isa tool by which total variation may be split up into several physically
an assignable component was defined by :

(a) Karl Pearson (b) R.A.Fisher

(c) Horace Secrist (d) A.L. Bowley

When the fertility gradient of the field is in one direction, which design is appropriate ?
(a) CRD (b) LSD
(c) RBD (d) SPD

When the fertility gradient of the field goes in two directions, which design is most
appropriate ?

(a) Augmented design (b) CRD

(c) LSD (d) SPD

If there are 5 treatments with 4 replication to cach, the error degree of freedom for
CRDwillbe:

(@ 15 (b 20
(€ 12 d 9

The non-parametric test used for two independent samples is :
(a) t-test (b) 7-test
(c) F-test (d) Mann Whitney U-test

For the comparison of two correlated samples under non-parametric alternative to
paired F-test is :

(a) z-test (b) F-test

(¢) Wilcoxon Signed-ranked test (d) Kruskal-Wallis H-test
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38.

39.

41.

42,

43.

4s.

Which test is applied for the test of significance between the two variances ?

(@) tetest (b) z-test
(¢) Chi-square test (d) F-test
The regression coefficient is independent of change of :
(a) ongn (b) scale
(¢) bothAandB (d) noneofthese
The hypothesis of no difference isknown as :
(a) Simplehypothesis (b) Null hypothesis
(¢) Composite hypothesis (d) Altemative hypothesis

If'tis a consistent estimator of 6, then :
(a) ¢isalsoaconsistent estimatorof @
(b) tisalsoaconsistent estimator of 6°
(c) ¢ may or may not be a consistent estimator of °
(d) t*isalso a consistent estimator of 6°

Ifa=(a, +a,)2, where a and a, are both most efficient with variance §°, and p, is
the correlation coefficient between a, and a, then variance of ais

(@ (1+p)§ b (1+p)sn2

(¢) pS¥2 (d) none

For given observed random samples 2, 1,4, 5. The point estimates of the parameters
ofpando’isaN(n, 0% are:

10 10
10 10
© 45 @ 37
An unbiased estimator : i~
(a) willalways be consistent (b) will not be consistent

(c) may or may not be consistent (d) noncoftheabove

For the Poisson parameter :

1
(a) -}isaconsistaﬂslimatorof % (b) e is a consistent estimator of %
X

(c) xisaconsistent estimator of % (d) noncoftheabove
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46.

47.

48.

49.

S0.

St

52.

3.

A large population has a mean of 3.25 cm and standard deviation 0of 2.61 cm.
A sample 0f 900 items has a mean of 3.45 cm. The value of Z is equal to :

(@) 1.7 (b) 1.8
(¢) 23 (d 28
The probability of type-I error is known as :
(a) testofsignificance (b) level of significance
(c) composite hypothesis (d) noneofthese

For test of goodness of fit, which test is used ?
(a) t-test (b) F-test
(c) z-test (d) Chi-square test

For comparison of two means from independent samples which test is applicable ?
(a) t-test (b) F-test
(¢) z-test (d) Chi-square test

When we want average of rates of change or ratio or index number, which measure
of central tendency is suitable ?

(a) geometric mean (b) mode
(¢) anthmetic mean (d) median

Iftwo attributes A and B such that ( 48 ) > u%(lﬂ ,they are said to be :

(a) negatively associated (b) positively associated
(c) notassociated (d) none

IfAand B attributes are independent, the value of y the coefficient of colligation is :
(a) <+l (b -1
(c) zero (d) none

For the following linear programming problem (LPP)
Max Z = 2x, +3x,
subjectto  x +x,=1

3x,+x,<4
X,%,20
The basic feasible solution is
@) X ko= ) =x-=0x=1
© x=0,x,=0 (d) noneoftheabove
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54.

55.

56,

57.

59.

The best average for constructing an index number is :
(a) harmonic mean (b) arithmetic mean
(c) geometric mean (d) noneofthese

Fisher’s ideal index number is :
(a) thearithmetic mean of Laspeyre’s and Paasche’s index numbers
(b) themedian of Laspeyre’s and Paasche’s index numbers
(¢) thegeometric mean of Laspeyre’s and Paasche's index numbers
(d) none of the above

Laspeyre's formula does not obey :
(a) Circulartest (b) Timereversaltest
(c) Factorreversal test (d) Noneofthese

The factor reversal test is satisfied by
(a) Simpleaggregative index number (b) Laspeyre’sindex number
(¢) Paasche’s index number (d) None

Crude death rate, expressed simply as a ratio, provided :

(a) the probability of babies born and died during the year under reference

(b) the probability of a foetal death during the year under reference
(c) theprobability of dying of a person during the year under reference
(d) all theabove

The death rate obtained for a segment of a population is known as :

(a) specific death rate (b) qmd_e death rate

(c) standardized rate (d) vital index
Fertility rates mainly depend on :

(a) total female population

(b) total population

(c) female population of child bearing age
(d) number of newly born babies
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